
Topic 5. 

Limits 

5. Definition 1. If  y f x  function x a  of the point something around 

determined being desired 0  for the thigh so 0  number is available if so , 

x a   inequality satisfying all x a  points for  f x A    inequality if A done of 

a finite number  y f x function x a  at the point ( or x a in ) is called the limit . 
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 Great limits 
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 Limit calculation formulas 
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Solved from examples samples 

Example 5.1. The following function limit calculate : 
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Solution : 

In function x  value when replaced by 3 , the following result is taken : 
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Example 5.2. The following function limit calculate :
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Solution : 

Given of the function fraction from both x the denominator and the numerator of the 

most big level bracket out is released , that is in this as follows to write can : 
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In this 
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Example 5.3. The following function limit calculate :   2
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Solution : 

To the border in transition infinity minus infinity of form uncertainty there is . 
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Function of the roots the difference with is expressed . From uncertainty get rid of 

to be for this difference roots in total is multiplied . 
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As a result , infinity divided infinity uncertainty will come Uncertainty to open for 

fraction from the denominator and from the photo x  bracket out is released and is 

shortened . As a result given function limit as follows will be : 
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Example 5.4. The following function limit calculate :
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Solution : 

Given in the function fraction photo and the denominator to multipliers is separated 

. In this fraction photo - reduced increase to the formula according to 
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As a result function limit as follows is : 
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Example 5.5. The following function limit calculate : 
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Solution : 

Given function limit count for great from the limit used : 
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Example 5.6. The following function limit calculate : 
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Solution : 

The limit count for originally , parenthesis inside of the fraction whole part separated 

is written : 
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Now the limit in the calculation from the excellent limit formula used ; 
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Independent work for issues 

The following funk sia limits calculate (5.1-5.40). 
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